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Hit Pattern

> OK In general.
=

> One busy wire, possible due to cable
>

> More Noise In the second half of the chamber
®
e Correspond to low energy electrons, bending the op-
posite way.
®

® The kink should due to acceptance cutoff



Hydrogen L ~ 6x10°°

Chamber rate

N
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LHZ 3uA: L ~ 6* 107
& &1 1400V {run= 2259,2263,2265,2266)
b J £2 1400V {run= 2259,2263,2265,2266)
& e1 1350V {run= 2270,2271,2272,2273)
¥ £2 1350V {run= 2270,2271,2272,2273)
&1 1450V {run= 2274,2275,2276,2277)
€2 1450V {run= 2274,2275,2276,2277)
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Carbon L ~ 1.4x10°°
> TRANSVERSITY L ~ 10°%

Chamber rate

N
o

Carbon 5uA: L~1.4 * 10
c1 1350V {run= 2226-2229)
c2 1350V {run= 2226-2229)
c1 1400V {run= 2230-2233)
c2 1400V {run= 2230-2233)
c1 1450V {run= 2234-2237)
2 1450V {run= 2234-2237)
c1 1500V {run= 2238-2241)
c2 1500V {run= 2238-2241)
c1 1550V {run= 2241-2244)
c2 1550V {run= 2241-2244)
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Drift Time

Drift Times t1 in card 1 (Wire 0-15) on plane u1

. e T1-In-card- T-on-prane-uT
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Mean 7.362e-08
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| Drift Times t1 in card 4 (Wire 48-63) on plane ul

. ime 11-1n-cara 4-on plane. u1

ntries

Mean 6.918e-08
RMS 4.021e-08
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| Drift Times t1 in card 2 (Wire 16-31) on plane ui

i ime-Hi-in-card-2.on-plane-u1
Entries 4308
Mean 7.147e-08

_t1 RMS _4.124e-08
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I Drift Times t1 in card 5 (Wire 64-79) on plane ul .

Mean 7.084e-08
RMS 4.111e-08
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| Drift Times t1 in card 3 (Wire 32-47) on plane ul
160

i fime-ti-in-card-3-on-plane-u1
Entries 5500
Mean 6.86e-08
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| Dritt Times t1 in card 6 (Wire 80-95) on plane u1 |

7.23e-08
RMS  4.134e-08
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| Drift Times t1 in card 7 (Wire 96-111) on plane ut

imo-t1-in-cara-7-on-plana-ut

ntries

Mean 7.15e-08
RMS 4.204e-08
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ime-t1-in card-s-on-piane-u1
niries
Mean 7.436e-08

| Drift Times t1 in card 8 (Wire 112-127) on plane u1 h

_t 1 RMS 4.221e-08
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ime-t1-in-card-o-on-piane-ul
niries
Mean 7.382e-08

| Drift Times t1 in card 9 (Wire 128-140) on plane ul i

- t 1 RMS  4.4e-08
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Drift Time
Thanks to Khem

Times: Card 1U1 Times: Card 1U2 Times: Card 1U3
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Tracking (Ole)

htemp

Entries 20000
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Tracking (Ole)

BB.ir.chi2/BB.tr.ndof

htemp
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Entries 13230
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Event Display




Event Display




Still Some Problems (Database?
Tracking?)




Still Some problems (Database?
Tracking?)




Hitting Efficiency (Ole)

Proton hit eff
1550 V
1600 V
1500 V
1450 V
1400 V
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Naive Tracking Efficiency (Khem)

> Add cut on Left arm PID.

> Add cut on Trigger Type.

> Add cut on Coincidence Timing.

> No cut on BigBite Scintillator ADC.
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Threshold (V)




BigBite Software

> Need to add in shower system?
=

> Two planes firing (Not an issue for
TRANSVERSITY)?

=
> Optics?



